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ion of Mobile Communications Technology-

. 36. 3rd Generatl

~ Bandwidth. The transmission capacity of

+ Bridge. A Bridge is a network device that establish
networks with the same standard but with differen

. Carrier Wave. A signal of chosen frequency generated t
fransmissions.

a commumcatmn channel.

gs an intelligent connection between two locg|
3

t types of cables.
o carry data ; often used for long distance

OMA» Code-Division Multiple Access.
ption. The process of converting encrypted data back into original form.
o translate a URL (domain name) into IP address.
tem. DNS
able form.

Sﬁf converting electronic data to an unrecogniz

d to prevent unauthorized access to or from a private

all is a system designe
directions, so

]

at connects dissimilar networks.
;:;azbj;l,_ity to transmit data on the same channel.
,_teveral. computers together.

‘within a building or a small area.
‘within a city or in an area of radius of

e‘f.

a ’U(‘i‘i[f\ or wave, 50 that m,.;
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. JCP. Connected oriented protocol that facilitates data

ER/IP protocol stack. transmission over the Internet. A part of

gy. The pattern of interconnection of nodes in a network is called topology.
nsceiver. Transmitter/Receiver.

ission Control Protcol. TCP

N. Wide Area Network. It is a network spread across cities, countries, continents etc.
;s Communication. Data communication without the use of landlines.

B

A OBJECTIVE TYPE QUESTIONS [1 Mark] |

Multiple Choice Questions

twork is
f hardware components and computers
d by communication channels

: vces and information (d) All of the Above

v unication components and devices are to communicate

on channels for transferring data
- ferring data

. ation channels used for trans

to exchange information with a process in another
e tO

. devices are of same type
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156 MOVE FAST WITH COMPUTER SCIENCE (Python) - XII

6. Which of these is a characteristic of a WAN ?
(a) It covers a small geographical area
(b) Normally has a lower bandwidth/speed than a LAN
(c) It is contained within one building
(d) Users are not able to share files and peripherals

7. Central Computer which is powerful than other computers in the network is cajjeq as

(a) Client (b) Server
(c) Hub (d) Switch

8. Network in which every computer is capable of playing the role of a client, or a serye
or both at same time is called

(a) peer-to-peer network (b) local area network

(c) dedicated server network (d) wide area network
9. In peer-to-peer network, each computer in a network is referred as

(a) server (b) client

(c) peer (d) sender

10. Which of these statements is true?
(@) A client-server network has a centra
of the network

!
D
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2
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l u,mpnh rtoa network ?
i Nirele w55 |2
(a) Wireless Access Point (h) Network Interface card
(¢) Switch (d) Hul

¥ "( » AS G -
16. A device that forwards data packet from one network to another is called a

(a) Bridge (b) Router (c) Hub (d) Gateway

17. Which of the following is the fastest media of data transfer ?

(a) Co-axial Cable (b) Untwisted Wire

(¢) Telephone Lines (d) Fibre Optic

18. Which is a network device that is used to regenerate or replicate signals that are
weakened or distorted by transmission over long distances ?
(a) Repeater (b) Hub (c) Switch (d) Bridge
point for devices In a network?

19. Which of the following is a common connection
(b) Hub (c) Switch

ork point that acts as an entrance to ar

(a) Repeater (d) Bridge

20. A is a netw Jother network.

(a) Repeater
ich is a device that connects

‘ork that uses the same protocol ?
mﬂub (c) Switch (d) Bridge

ts between compuler

(b) Hub (c) Gateway (d) Bridge

a local area network (LAN) to another local area

cing device that forwards data packe

(c) Switch (d) Router

(b) Unicast device
(d) None of the above

(b) Unicast device
(d) None of the above

if they were a single network’, is the function

(d) Bridge

(d) Gatt‘w-‘]'\,

‘‘‘‘‘‘‘

(d) Hybrid
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29. In this type of cloud, an organization rents cloud services from cloud PrOVide,
on-demand basis.

158 MOVE FAST WITH COMPUTER SCIENCE (Python) - XII

(a) Private (b) Public
(¢) Protected (d) Hybrid
30. In this type of cloud, the cloud is composed of multiple internal or external clougs
(a) Private (b) Public
(c) Protected (d) Hybrid
31. mmw of cloud, the cloud is fully owned and used by an organisation.
(b) Public
(d) Hybrid

(b) modulation signal

‘f(a)‘ analeg 51gnal (d) binary signal
33. In computer, converting a digital signal in to an analog signal is called
(a) modulation (b) demodulation
(c) conversion (d) transformation
34. Signals generated by an operating system to send it over phone line must be further

converted into a

(b) analog signal
(d) microwave

requency signal over a high frequency
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(c) 24-bit (d) 32-bil

If value of checksum is 0, then message i
sage is

|
i (@) accepted (b) rejected

(c) sent back (d) resend

4. Checksums use arithmetic
(a) two’s complement arithmetic
(b) one’s complement ' ic
e plemen arithmetic
(¢c) either (a) or (b) (d) none of the above
45. The checksum of 1111 and 1111 is
(a) 1111 (b) 0000 (c) 1110 (d) 0111
46. The checksum of 0000 and 0000 is .
(a) 1111 (b) 0000 (c) 1110 (d) 0111
47. Which of the following devices translate hostnames into IP addresses ?
(b) Hub

(a) DNS Server
(c) DHCP Server
translates internet domain an

(d) Firewall

d hostnames to IP address.
on prutnml

48. The
(a) domain name system

(c) network time protocol

sests for other domains

(b) routing informati
(d) internet relay chat

DNS server

1ale

(b) by contacting remote
(d) none of the mentioned

(b) hostname-to—address records

(d) all of the mentioned

(b) unique resource identifier

(d) none of these

to a wired network

ng computers on the Internel

(d) Gopher

pting Language
ork Protocol
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160 MOVE FAST WITH COMPUTER SCIENCE (Python) - XIl
(b) Protocol used for transferring message between end user & Mail Seryey
(¢) Protocol used for smart card message interchange
(d) Encryption Standard
56. A firewall is

(@) An established network performance reference point.

(b) Software or hardware used to secure/guard a private network from , Public
network.

(¢) A virus that infects macros.
(d) A predefined encryption key used to encrypt and decrypt data transmission,

57. Mechanism to protect private networks from outside attack is
(a) Firewall (b) Antivirus (c) Digital signature (d) FOrmatting
58. What is a Firewall in Computer Network ?
(@) The physical boundary of Network
~ (b) An operating System of Computer Network
'X’E) A system designed to prevent unauthorized access

(d) A web browsing Software
- 59, m&mu‘lhple access technique is used by IEEE standard for wireless LAN?
L QATOHA (b) CSMA/CA
g .“'HM#\ (d) none of the mentioned
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65. What does Router do in a network ?
(@) Forwards a packet to all outgoing links

(b) Forwards a packet to the next free outgoing link

deter IMec Y e . L
(c) Determines on which outing link a packet is to be forwarded

(d) Forwards a packet to al] outgoing links except the originated link

66. What is the address size of [Pv4 ?

32 bit :
(a) 32 b1 (b) 64 bit (c) 128 bit (d) 256 bit
67. What is the address size of IPv6 ?
(a) 32 bit (b) 64 bit (c) 128 bit (d) 256 bit
68. Which command helps identify if a given system is connected to a network ?
(a) Getmac (b) ping (c) ifconfig (d) netstat
69. Which command is used for finding the IP address and default gateway of your
network ?
(a) ipconfig (b) ping (c) ifconfig (d) netstat

70. Which command shows the path of a packet going from your host/computer
through each of the individual routes from one router to another up to the final

- (b) ping (c) traceroute (d) netstat
srovides DNS lookup utility ?
(¢) traceroute (d) ipconfig

ormation about the registered Domain Names, an IP

(c) traceroute (d) ipconfig

(b) Special Security License
(d) Straight Socket Loop

M ” i
Scanned by CamScanner



162
MO\«E‘ FAST ETE{ COMPUTH? SCIENCE [Python) Xll
— AT S R L e ISt S
/7. Network congestion occurs
(@) In case of traffic overloading
(b) when a system terminates
(¢) when connection between two nodes terminates

(d) none of the mentioned

78. The length of an IP address is:

(a) 8 bits (b) 16 bits
ation system called wherein data cannot be sent ip e

(c) 32 bits (d) 48 bits

79. What is such communic
directions simultaneously ?
(a) Synchronous (b) Asynchronous
> full form of CSMA/CA ?
1 Sense Multiple Access/Collision Act
se Multiple Access/Collision Act
tiple Access/Collision Avoidance
e Multiple Access/Collision Avoidance
s, which protocol is used for handling collisions ?
(b) CSMA/CD (c) CSMA/CA (d) All of these

(c) Full duplex (d) Half duplex

oty ‘ijcs,qwmdx protocol is used for handling collisions ?
~ (b) CSMA/CD (c) CSMA/CA (d) All of these

ation system is called where data can be sent in both the

hronous  (c¢) Full duplex (d) Half duplex
cross a building, or a factory/plant or campus of

- (¢) LAN (d) PAN

ries or whole world.

(d) PAN
ing various related deve®

B
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§9. The communication protocol used by the Int t
ernet 1s :
a) HTTP N WW '

Q). \\l“\h of the '”““\\lllg is not a PrUl()C()] 5

' (@) HTTP (h) NIC
(©) NIC () SMTP (‘j) POP

Fill in the Blanks

3 b > ) y 3 ~ . .
g]. A computer network that spans a relatively large geogmphica] area is called .

92. WAN stands for :

Wired networks use an access method called .

s networks use an access method called

94, Wireles

; is a protocol which allows users to download E Mail messages from mail
server to a local computer.

hat allows to send/upload e

mail message from local computer to

is a protocol t

L4 —d—"
an email server.
orks is known as :

7. A network of netw
s identified by unique

address called ;

Letwork, a machine i

dress of web page o the web is called .

nt readable on the WWW.

o protocol used {0 make hypertext docume

nternet that manages the data.

munication protocol of 1

1as a unique .

1 actions for another computer in a network.

or the action in a network.

d wanting to use it for sending/receiving
. mmunication called

il messages and transfer them

¢ RS
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-
116. 2w '
____ network-type comprises of multiple LANs / MANs.
117, A stand-alone ¢
ne computer becomes a as soon as it gets attached to a networy

118, A ¢ e
ymputer that facilitates data sharing, resource sharing etc. on a network is kngy,
n

as

119. :
19. A network card attached to a host so as to establish netwo

rk connections, is calleq

sing client requests.

120. A

is a computer on network, dedicated to proces
C manufacturer is called

bits.

g in wireless networks while

._1-1—-5-——

address,

ess assigned by NI
bytes or

is used for collision handlin

r collision handling in wired networks.

ique of changing the characteristics of the signal being transmitteq

ata on it.

e process of extracting data from the received modulated signal.

1S 4 the
’bﬁs calculated from digital data so as to ensure data integrity is called

f efficiently selecting a path/route in a network along which the

o] to their destination.

1 they can handle, is called

i e

e / False Questions
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143. The cloud is a generic term used for Internet | :
‘ ‘met,
144. CSMA/CD can be used by wirejess network |
s,
F 145 ICP is a connection oriented protocol
l |46, UDP” is a connection oriented protocol
147, UDPis a connectionless protoco].
148, NSLOOKUP is a network type.
- PING checks if a computer js connected to a network or not
150. WHOIS is a protocol.
151. IMAP, SMTP, POP3 are all email protocols.
- 152. HTTP, TCP/IP, UDP are Internet protocols.
153. HTTP is a secure protocol.
:
154. HTTPS is a secure protocol. !
‘ |
i
5. (a) 6. (b)
11. (b) 12. (a)
17. (d) 18. (a)
23. (a) 24. (b)
29. (b) 30. (d)
35. (o) 36. (d)
41. (a) 42. ) ;
47. (a) 48. (@) |
53. (o) 54. (d) |
59. (b) 60. (h) !
65. (o) 66. (a)
71. (a) 72. (b)
77. (a) 78. (0
8. (© .o
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T e
109. Client 110. Simple Mail Transfer Protocol 111. Protocol
112, Electronic mail 113. Carrier Sense Multiple Access with Collision Avoidanc,
114, SMTP 115. Domain name server 116. WAN 117 Hn,sl/\\’orks‘latiu;
Server 119. NIC/TAP/NIU ; Network Interface Card/Network Interface Unit '
Server 121. MAC 122. 6,48 123. CSMA/CA, CSMA/CD
| 125. Demodulation 126. Checksum
lmimnm 129. Network congestion
232. F 133. T 134. F 135. T
138. F 139. F 140. T 41 T
144. F 145. T 146. F 147. T
150. F 151. T 152. T 153. F

(iii) Server  (iv) NIU  (v) TAP

ached to a network is known as a node.
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What 1s Ethernet ?

x\n; ll‘:hl& l;\:ll is a LAN architecture developed by Xerox ( orp.inassociation with 11

and Intel. wrnet uses bus or star topologies and can support data transfer rates of

upto 10 Mbps. ' rates o

' ) . 7 s X - ,

What ts the basic d}ﬂu rence between functioning of a hub and switch when both ———

connect computers into a network ? '
s. A )S g bl o \

Ags. 3 ’H:;I shares and distributes bandwidth among all connected computers whereas
W ' NG o - '

a Switch does not share bandwidth, rather cach computer gets full bandwidth

A hub is a broadcast device while a switch is a unicast device.

. What is E-mail 2 What are its advantages ?

Or

What is an Electronic Mail ? Give its advantages. (CBSE QB 98]
Or

Describe the advantages of E-mail Service. [CBSE QB 98]

Ans. The E-mail (ElECtTONiC mall) is sending and ru‘vivin;; messages by a “;nllw“h-,g

The major advantages of E-mail are :

(1) Easy record maintenance (11) Waste reduction
(i17) Low Cost (iv) Fast delivery
Give the full form for the following :
(a) FM (b) AM (c) NFS (d) FTP. [CBSE QB 98]
Ans.

(b) Amplitude Modulation
(d) File Transfer Protocol.
[CBSE D 98 ; OD 98]

(a) Frequency Modulation
(c) Network File Server
What are repeaters ?

Ans. A repeater is a device that regenerates a signal being transmitted on the network.
It is used in long network lines, which exceed the maximum rated distance for a single

run.
What is the difference between LAN and MAN ?
Ans, LAN (Local Area Network) is confined to relatively small areas such as a building or

a group of buildings. e.8., university campus.

MAN (Mefropolitan Area Network) is a network spanning a small city or town.
[CBSE OD 98]

handle different protocols. While
to find the best route for sending

[CBSE D 98]

What are Routers ?
Ans. It is a device that works like a bridge but can
connected to other networks, routers keep working

data over network.
What is the difference between LAN and Internet ?

Ans. LAN refers to Local Area Network, & netwo?'k sprg@; er a
However, Internet is a world wide network. It is a netw

What is the purpose of using FTP ? ,.
Ans. FTP (File Transfer Protocol) transfers files hh;:

rules for file transfer that both systems: (In whackh k-

adhere to.
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. : ' . oisual chat with an expert sittino :
172. What out of the following, will you use to have an audio-visual ch I iting i

a far-away place to fix-up a technical issue ?
(1) emal (11) VolP (iti) FTP [CBSE D 12 ; Oop 12
Ans. (11) VoIP

173. Write the following abbreviations in their full form :

(i) LAN [CBSE D p)
(i) FTP [CBSE D 08, 07 ; OD g, gy
(iify WAN [CBSE D 02, ()
(i) HTTP [CBSE OD 09, 08 ; D (g,
(v) TCP/IP [CBSE D 08, 05 ; OD (7
(vi) URL [CBSE D 06 ; OD 04)
(vii) MAN [CBSE OD 0]
Ans.
(1) Local Area Network
(11) File Transfer Protocol
(i1i) Wide Area Network
(iv) Hyper Text Transfer Protocol
(v) Transfer Control Protocol/Internet Protocol
(01) Uniform Resource Locator
(vit) Metropolitan Area Network
174. Name two transmission media for networking. [CBSE OD 06]

Ans. (i) Coaxial Cable (i1) Microwave
175. What is MAC address ?

Ans. The NIC manufacturer assigns a unique physical address to each NIC card ; this
physical address is known as MAC address.

A MAC address is a 6-byte address with each byte separated by a colon, €g.
10:BS:03:63:2E: FC '
176. What is a Gateway ? 3 el

Ans. A Gateway is a network device that connects dissimil

an intelligent connection between a local network an@ ) J
completely different structures.

177. Mention two line-of-sight unguided media,
Ans. Microwaves and Laser.

178. For secure transmission through unguided media, which o
Ans, Microwave and Radiowave.

179. For difficult terrain, which unguided media would vou
Ans. Microwave and Radiowave,
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188,

189,

190,

191,

For the securtty reasons which hig
. (

. Which protocol is used for the transfer of hyperte

A-‘U_NLH_ : COMPUTER NETWORK 169

e ———

h capacity co cati /
pacity communication medium would you choose ?

‘\.I'}_ll ’
Ans. Fiber-optic as it is very difficult to breach the signal

xt documents on the Internet 2 [CBSE sp 1]
Ans. HTTP (or HyperText Transfer Protocol).

. Which of the following : (i) is not o broadcast device (i) offers a dedicated bandwidth ?

(a) repeater (b) bridge (c) hub (d) switch
Ans.

(1) (b) Il?/;'l:(g:ealz g:sas .broadcast device, as it filters traffic depending upon the receiver’s

(d) Switch is also a unicast device.

(i) (d) Switch offers dedicated bandwidth.

. What is Router ?

Ans. A router is a device which is responsible for sending data from source to
destination over the computer network by finding the best route.

. What is HTTP ?

Ans. HTTP stands for HyperText Transfer Protocol. This protocol is responsible for
web content over WWW (World Wide Web).

. What is 10T ?

Ans. IoT stands for Internet of Things. It is basically a network using which devices
with some sensor and RFID like technologies, known as things can communicate with
each other using Internet.

. What is bridge networking device ?

Ans. Bridge is a hardware networking device used to connect two LANs, A bridge
operates at data link layer of the OSI reference model.

What is a repeater ?

Ans. Repeater is a hardware device used to strengthen signals being transmitted on a
network.

What is a switch ?

Ans. A switch is a networking device that manages networked connections between
devices on a star networks.

What is routing ? f
Ans. Routing is a process of selecting pathsina network through which network traffic X
15 sent,

What is q routing table ? e
Ans. A routing table is a table maintained by routers, which lists
other networks the router is connected to. '
What (s the purpose of using router ?

Ans. A router can work like a bridge and can .also .
€an Jocate the destination required by sending the 1
destination js unknown to itself.
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194,

195.

196.

197.

198.

199,

200.

202.

MOVE FAST WITH COMPUTER SCIENCE (Python) X

Define an internetwork.
Ans. A collection of interconnected network is called an internctwork
What 1s NIC ?

Ans. NIC stands for Network Interface Card. It is also known as Network Ada
the form of add-in card and is installed in a computer so that the comy
connected to a network,

Each NIC has a MAC address which helps in identifying the computer oy 4 Netw

Vll-r ]|
ler | .

What are the security concerns related to IoT 7
Ans. Data security and privacy are maijor concerns related to 10T, These deviee
vulnerable to hacking and cloud endpoints could be used by hackers to attack y
What is modulation ?
Ans. The process of altering the characteristics (amplitude or frequency elc) of »
high-frequency wave called the carrier wave so that it can carry Imv-irbqu‘:‘,
information along with it while being transmitted, is called modulation.
What is carrier wave ? What is modulated wave ?
Ans. The high frequency wave whose characteristics are altered to superimpo
message information, is the carrier wave and after altering the characteristics, the ney
resultant wave is called the modulated wave.
What is amplitude modulation ?
Ans. When a high-frequency carrier wave’s amplitude is varied in accordance with
amplitude of the information (wave) to be transmitted, keeping the frequency a
phase of the carrier wave unchanged, this process is called Amplitude Modulation
What is frequency modulation ?
Ans. When a high-frequency carrier wave’s frequency is varied in accordance with e
frequency of information (wave) to be transmitted, keeping the amplitude and phase
the carrier wave unchanged, this process is called frequency modulation.
What is demodulation ? How is it different from modulation ?
Ans. Modulation is the technique of changing the characteristics of the sz =
transmitted so that it carries data and Demodulation is the reverse &
where data is extracted from the received signal (i.e., fror
What is CSMA/CA ? '
Ans. Carrier Sense Multiple Access/Collision Avoid:
protocol that is used by wireless networks to avoi
transmission.
What is ACK(Acknowledgment) signal ? a
Ans. The acknowledgment signal or the ACK signal is a
the receiving computer to indicate that the data has bee
that the next part of the transmission may be sent.
Which two statements are correct about P4 and 1P add :
(@) 1Pv4 addresses are represented by hexadecimal nur
(b) IPv4 addresses are 32 bits in length.
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f——""
() 1Pvd addresses are 128 bits in length.

(d) 1Pvo addresses are represented by decimal numbe
rs.
() IPvo addresses are represented by hexadecima] numb
N [Pv6 addresses are 32 bits in length. -

Ans. (b) and (e).

 Why are protocols needed ?

Ans. In networks, communication occurs between the entities in different <vste
Two entities cannot just send bit streams to each other and expect to be undersmuziL F ::
communication, the entities must agree on a common set of rules called protocol. A
‘protocol is thus a set of rules that governs data communication. -

frol Protocol) provides a connection oriented, reliable byte
mented means the two applications using TCP must

ard and reliable host to host mail
ent from a local computer to an

net for copying a file from one

: 1T ~mm)
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o

12. What is Single bit error |
W | it error - at only one bit of a given data .
Ans. The term single bit error means th |il only e g o ,1 a unit (syg, g
i ‘ket) is ¢ d from 1 to 0 or from 0 tol durine e :
character/data unit or packet) is changec o ”f‘mm.\l\h‘

N
el

What is burst error ?
Ans. Burst error means that 2 or more bits in the data unit have chay

ngd fmm 1t
from 0 to | during transmission.

214. What is a tracert or traceroute command ?

Ans. This networking command traceroute traces the route through the Internet f,,.
the sending device to the destination computer. The signal generally 80es frop
computer to the Internet Service Provider (ISP) and then to their Provider ypgj ;
reaches a ‘backbone’ provider. It then eventually transfers to the

destinatio,
‘backbone’ provider and finally reaches to the destination computer.

The traceroute command lists all the hops the signal has visited from sending de

Vicel;
destination device.

215. What is the use of Whois networking command ?

Ans. The whois networking command is used to find the registration records for;

specific domain name such as who is the owner of this domain name, when was#
registered and till when it is valid, etc.

TYPE E SHORT ANSWER QUESTIONS

216. What is a network ? Why is it needed ?

Or

Mention one advantage of networking. [Outside Delhi 201

Ans. A network is an interconnected collection of autonomous computers that &

share and exchange information.

Major reasons that emphasize on the need of networks are :

(i) Resource Sharing. Through a network, data, software anc
ve of the physical location of
(if) Reliability. A file can have jts copies on two or mo :

so if one of them is unavailable, the other copies ¢
network more reliable. .

(iff) Reduced Costs. Since resources can be shared,

(iv) Fast communication. With ne

tworks, it is possible
fast speeds.

217. Explain in bricf the capabilities and serpjces Supported by
Ans. Small computer networks that are confined

building or a factory) are known as Local Area Netwo, 4

is to serve its users in resource sharing. The hardw

shared through LANSs.
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